Homework #9 Evens Key

Homework

3.3
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60. given the system, make sure all the variables are on the left.  Write the system as a matrix with the coefficients of each variable in its own column, with constant in the final column and each equation in its own row. If a variable is missing, fill in the gaps with zeros.  Using row operations, we first set the top left corner to 1 by division or moving rows around.  Then add multiples of this row to other rows to make all coefficients in that column zero.  Then move on to the second column and repeat until you get to the last row.  Then backsolve.
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3.4
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